Potencias de 10 (H)

28 =100

4310

4510

79 <1000

84 =100

82100

42100

211000

36100

79 +1000

Calcule los siguientes cocientes.

79 =100

88 = 1000

8810

99 =-1000

18 =+ 1000

69 =100

11=10

1810

76 =10

31=10
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Potencias de 10 (H) Respuestas

28+ 100
0,28
4310
4,3
4510
4,5
79 = 1000
0,079
84 = 100
0,84
82+ 100
0,82
42100
0,42
211000
0,021
36+ 100
0,36
79 = 1000
0,079

Calcule los siguientes cocientes.

79 =100
0,79
88 - 1000
0,088
8810
8.8
99 = 1000
0,099
18+ 1000
0,018
69 + 100
0,69
11-+10
1,1
1810
1,8
76 =10
7,6
3110
3,1
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